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DEPARTMENTAL EXAMINATIONS
SURVEY DEPARTMENTAL TEST - DRAUGHTSMAN TEST - PAPER-II
(Without Books)

Maximum Time : 2.30 hours Maximum Marks : 100

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
efeuren elenLwefl& @G euens elleng et

Read the following instructions carefully before beginning to answer the questions.
elamésEné@ e welss CGgmri@h qpey SpsaamL ible|eIsameT SEUATONS Lilg&&a]LD.

1. Answers in excess of the prescribed number of questions appearing at the end of the

answer book will not be valued.
Mev_seear AU Qater eraarlsmasE SASHOIS a@@@uﬁ]@mﬂm, clenL_gsmarle

Endudam o dar s aaraflsmsiourarn cllenL &6 LHUSH QeuwuiuLTg.

2 In case of doubt, English version is the final.
Mamssailey spGsefiGudear rde agdld QarssuuLfeer NeanrssCGer
@punag.

3. A “4” Size Paper — 2 (Two) to be Enclosed.
A “4” gt —2 (@ran@) @eauésiubi.

4. Candidates should use the special kind of papers provided separately by the
commission for answering the questions in respect of the diagram / Datas entry type.
They should not answer in the printed forms, if any in the question paper.
aﬂc&mwuugﬁqﬁam QUETLIL LD  GUENTEE) SJeSMmerT Q_G'rr@’r’(a G&u‘.!g,@;b G]g;rrL_r'rurrem cllenés &5(&
e weflsgnd  Qurml G Careumaeanmussmed ogh@sar  saflurs  eupmsILIHLD UL
uaTUL STaTaEamer) Lweuhi$gse . Lorors amgsr@nen  GamerasiiuGIb @enemriLgeT |
SEsssana ellenwell&Ess gnl Mgl = 4 '

[N.B (1) Answer ALL questions.
SOEF NS @HEED eflenLwiafl.

(2) Candidates are allowed the option to answer the Paper either in
English or Tamil or even to answer the Paper partly in English and
partly in Tamil. ‘

e _wel&@h sraficd eflenLaser <prdon (dg) sBD (Sdg) umd
yrdosdgib wHmb urd sWlPlaid el sjeflggemib.

(3) Marks will be deducted for bad handwriting.

Qseflounn cperpuier asQuipss @GLadr wdubluaT G@DE&ELILEID.

(4) Chamber’'s mathematical Tables and Traverse (Boileau) Books are only
allowed with Scientific Calculator. ’

Gesbuiey (Chamber’s) seafls eumitiur@ wHmb  CHTEITE umizGev
(Boileaw) Lssssgan sl Lmen <igyHsalu@.]
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I. 1. Plot the field measurement sketch enclosed with this in the given drawing sheet
in 1:2000 mm using scale.

(Without G-Line between C and E) (20)
@sgLer @eanssiul L Lol sdomer euphsliulL Ceudemer cumyeys smefle
=ie1a|CaTe geam Qameam® 1:2000 .15, ererp jeTelld euamrey Cews.
(C wpmd E-&@ @i G-Car@ Geemoe).

2.  Calculate area for subdivision 1. . _ (2)
o 9 ey erar 1-6r LPLIL Sewtl&Ee]|b.

3. Mark the following details in the sketch : (4x2=28)
(a) River with Anicut in subdivision 3

(b) Draw telephone line from North boundary of subdivision 1 to South
: ‘boundary of subdivision 5 passing through subdivisions 3 and 4

(c) Draw a Railway line (double line) passing from S. No. 55 to S. No. 67
through subdivision 2

(d) Sluice with canal in subdivision 6.
aeruLSe Spsar eletéflaamen GDlEsa.
(=) o 9fley 3-60 <M HMIL HN@TESL(H.

() o lfle) aam 1 auLés admouie @mbs 3 whmbd 4 aPurs o Cdifle
areir. 5 ar QsHE TOmEE Fdgid taraeGuél sbdl.

(@) uss ye aar 55-@ @opg 2l Gfe aar 2 aflurs LES L T
: aTar-67MHE QFdaib @il @by uTms.
() ori9fley 6-d WS LHMID STOETL.
II. 1. Find the cost for constructing a pathway of width 5.5 metre around a square
garden whose side measures 80 meter at the rate of Rs. 9.75 per square metre. (8)

@m sgrorar GsmiLsdlar ussd 80 5. S@saHHl 5.5 B sisesdnE CeualGu
LITens Siemnés @ &.15. @ 5. 9.75 eIgb samssl[HLbCUng) erarar CFeeum@Lb.

756.2x 252.3
T (2)

2. Simplify the following using logarithm. T

wrsdysd (Logarithm) o LCWNAlSs &HEES.
756.2x252.3
111.8

III. Explain: : (5 x 4 =20)
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IV.

< uglGau()

Clofligwiewr

Compute the traverse up to plotting lines

Gy bldsgien Gerarid
13-1b 9fley efleTbLigid

anged Ll L &SHEET.

(20)

Side Angles Bearing Distance
Village (in Metre)
' 4 " |cors| ° ' | cors
132 | 49 143 | 59 50.2
132 | 39 38.4
S.F.No.10 | 172 | 34 58.9
85 | 52 45.6
179 | 49 44.4
S.F.No.14 | 91 | 56 70.5
173 | 52 36.4
156 | 31 6.8
S.F.No.12 | 133 |58 32.0
ECp Qsr@ssuulQarer eleuptisemad Qerem® grreufe plotting Lines cueny seanrés [
Qaviweyd
Gamemrd Cufms GO
Aymo u&sd (gimeu Camemid) | (BLrMed)
° " |cors| °© ' | cors
132 | 49 143 | 59 50.2
132 | 389 38.4
S.F.No.10 | 172 | 34 58.9
85 | 52 45.6
179 | 49 44.4
S.F.No.14 | 91 |56 70.5
173 | 52 36.4
156 | 31 6.8
S.F.No.12 | 133 |58 32.0
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V. Intriangle ABC, side a = 80.4 m, side b = 100.8 m and side ¢ = 87.4 m. Find the area of
the triangle (without NOS problem). (20)
ABC aatp @psCGaremsdler usand a = 80.4 B, ussd b = 100.8 B whmb wssbd
c=87.4185 Q@is wsGaramsdler ugiuamency (NOS wpenpn @eamod) seam®B Gy .
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